mean # PXL hits vs eta

<pixel hits>

Ratio

o

©

|01
w

=
T T T T=T T 17T
-
E o

510 12 3

| mean # PXL Layers with measurement vs eta

4.5

<pixel layers>

Ratio

=
T T T 1T T T 1

0.95

|
w

—=— DQM_TT_original_lowpt

mean # STRIP hits V|

<strip hits>

o AT T T L

T AR SRS S NS BN S

—e— DQM_TT_newbranch_lowpt_plLess

VACand

:---:L

—— DQM_TT_newbranch_lowpt_pLessM

T o 1 2 3

\‘

(*2)

N
IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

<strip layers>

Ratio

‘II: :||l=._

wIIIIH_LIIII
i

510 12 3
n



	Contents
	Page 1


